13+ 17
Use known facts

35+ 20

8+7,9+9 14 +3
Add multiples of ten

Number facts

Single digit numbers 30+70 frrkrows+7=10
Doubles » ‘I?"E“J.‘?: IfTknow3+2=8§
Teens and single digits i 10s 1s atere s Bt S tere
mE 5030 + 20 =50
II| -
5+ 18 0 o
Greatest number first 5 snﬁs
then bridge
[}
37+19
25 + 43 mE
Partition and recombine = . mgn®
=
m B )
26 +43 10s | 1s - O
® +3) 5 bo
O DD +10 +10 +5 2
Og T T N e Add 20 then subtract 1
+a= 68 0 a5 45 65 80 go »
+
35 + 27 el >
|||| - Count on in tens then ones 0 37 s
? This product is licensed for the exokesive uss of Holy Trinky Primary Sohool - wwaw buzzardpublishing.oom @ Liz Hupl{ins




9-4,13-5,18-9
Single digit numbers
Teens and single digits

46 - 20
Count back: multiples of ten

30-7
Use known facts
100 -70

90000
00000

r'el
@0000 (CO000
OO000 L

Number facts

Halves

23-5
- Dridge through T e
Coum:) mi[?'le of tg:‘lr ©0000 ) 26 ® 46
DC00C00000 900000000 - How shall T subtract? .
NN P
o= Round then adjust
— Gatomems) p—
- e and 42 5 42 -37 —
— Find the difference between ol
7 two numbers -
42
* = f’io“\ Take away 20 then add 1
mﬁ 55 o
LESSaSaREes _ _ _ ____ __ SSsSssees o _ _ S8 /4,—\
°5- 24 €8 D 0 T A7
Count back in tens then ones %
o 37 40 42
©) Liz Hopkins
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3 people each have 4 cats.
How many cats are
there in total?

People | Cats
1 4
8
4x3=12 3 12

@GH multiply ?

no00o0L0000,00 . ,

Count in ones
0000 0000 0O0COCGO 1,2,3,4,5,6,7,8,9,10,11, 12

Count in twos

* + 4 2,4,6,8,10,12
+4 +4 +4
P Use a known fact
0 4 8 12

If 2% 3is6, then

4 x 3 is double 6.
‘? 4+4+4=12
This product is lioenfied for the exchehe use of Holy Trinky Primary Sofocl - wwew Buezardpublishing.oom

One to many correspondence

4%x3=12
3X4=4x3
(€ Liz Hopkins




Link to fractions.
? One third of 12 is 4

% 12 shared into
3 equal groups

There are 12 cats.

There are 12 cats. Each person owns 3 cats.
Three people each have the same R ) tow many people are there?
number of cats. (ﬁ
H do they have each? ;
oW many do they have & 1 for you, 1 for you, Grab a group of 3 <'ﬁ -
1 for you.. grab a group of 3.. (ﬁ % E (ﬁ
@?12? Iy &8 -

How shall T divide?

12 can be described as
3 columns of 4

orsrowsartree |\ —OOO0-O00-O0C-O0-

Bar model OOOO

000000000000 O000 | ————F=

12
IfTknow3x 4 =12
thenI know 12 =3 =4

(€ Liz Hopkins

4 4 4
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